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: 4 �§rm�

: ¨l§ A� �y� , Hk`l�  ASm�� ��zltF³� �Am`tF��

(𝑥 + 𝑦 ̸= 1) ¤ (𝑥 ̸= 𝑦) ⇒ 𝑥2 − 𝑥 ̸= 𝑦2 − 𝑦 /1
(∀𝑦, 𝑥 ∈ R)

(∀𝑦, 𝑥 ∈ R) (𝑦 ̸= 1) ¤ (𝑥 ̸= 1) ⇒ 1 + 𝑥𝑦 ̸= 𝑥 + 𝑦 /2
(∀𝑥 ∈ R+) 𝑥 ̸= 0 ⇒

√
1 + 𝑥 ̸= 1 +

√
𝑥 /3

(∀𝑦, 𝑥 ∈ R) 𝑦 ̸=
−3
4

𝑥 ⇒
𝑥 − 𝑦

𝑥 + 𝑦
̸= 7 /4

(∀𝑥 ∈ [−1, +∞[) 𝑥 ̸= 0 ⇒
√

1 + 𝑥 ̸= 1 +
𝑥

2
/5

(𝑦 > 1) ¤ (𝑥 > 1) 𝑥 ̸= 𝑦 ⇒
𝑥

1 + 𝑥2 ̸=
𝑦

1 + 𝑦2 /6

: 5 �§rm�

:  � ��rt�A� �y�

∀𝑛 ∈ N* 1 + 2 + .... + 𝑛 =
𝑛(𝑛 + 1)

2
/1

∀𝑛 ∈ N 1+5+9+.....+(4𝑛+1) = (𝑛+1)(2𝑛+1) /2

∀𝑛 ∈ N* 12+22+32+....+𝑛2 =
𝑛(𝑛 + 1)(2𝑛 + 1)

6
/3

: An§d� N*
�� 𝑛 �k� /4

1 × 2 + 2 × 3 + ... + 𝑛 × (𝑛 + 1) =
1
3

𝑛(𝑛 + 1)(𝑛 + 2)

: An§d� N*
�� 𝑛 �k� /5

13 + 23 + 33 + ..... + 𝑛3 =
𝑛2

4
(𝑛 + 1)2

(𝑛 ∈ N) 𝐴𝑛 = 32𝑛+1 − 1 �S� /6

𝐴𝑛+1 = 8 × 32𝑛+1 + 𝐴𝑛  � �y� (𝑎)

𝐴𝑛 �sq§ 2  d`��  � ��rt�A� �y� (𝑏)

: 1 �§rm�

: Ty�±� ��CAb`�� Tqyq� Tmy�  d�

25
4

̸=
5
2

: (𝑝)
√

5 > 2 ¤� (−
√

3)2 = 3 : (𝑞)
. ©Ðr�  d� 5 ¤ 2  d`l� ��AS� 8 : (𝑟)

82 = 64 ⇒ ©Ðr�  d� 10 : (𝑡)
∃𝑥 ∈ R / 𝑥2 = −𝑥 : (𝑙)

: 2 �§rm�

: Ty�¯� ��CAb`�� �Ammkm�� �Am`tF�� 	t��

𝑚 ¨`ybV �y�}  d� d�w§ 𝑛 ¨`ybV �y�}  d� �k� /1
𝑛 = 2𝑚 : �y��

𝑥2 + 1 ̸= 0 An§d� 𝑥 ¨qyq�  d� �k� /2
𝑀 ¨qyq�  d� d�w§ 𝑥 ¨qyq�  d� �k� /2

𝑥 < 𝑀 : �y��

𝑛 ¨`ybV �y�}  d� d�w§ 𝑦 ¤ 𝑥 �yqyq� �§ d� �k� /3
𝑥 + 𝑦 = 𝑛 : �y��

: 3 �§rm�

: Ty�±� ��CAb`�� ¨f� X��

(∀𝑥 ∈ R) (∃𝑥 ∈ R) 𝑥2 − 𝑚𝑥 + 1 = 0 : (𝑝)
(∃𝑥 ∈ N) (∀𝑥 ∈ R) 𝑥 < 𝑦 ¤� 𝑥 = 𝑦 : (𝑞)

(∀𝑥 ∈ R) 𝑥 + 1 = 0 ⇒ 𝑥 ≤ 0 : (𝑠)
(∀𝑎 ∈ Z) 𝑎2 ∈ Z ⇒ 𝑎 ∈ Z : (𝑙)

: (𝑚)
(∀𝑥 ∈ R) (∀𝑦 ∈ R) | 𝑥𝑦 |= 𝑥𝑦 ⇒ (𝑥 + 𝑦)2 ≥ 𝑥2 + 𝑦2

(∃𝑥 ∈ R) 𝑥2 > 5 ¤ 𝑥 ∈ Z (𝑤)
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